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to darken only one circle/bubble on the answer sheet
using black/blue ballpoint pen indicating the correct
answer as shown below :

Example D Q@ D, where D is the correct answer.

If more than one answer are marked, it would be treated
as wrong answer and it will not be examined.
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CHILD DEVELOPMENT AND TEACHING METHOD
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1.

. Which of the

Out of the following which should not be
kept in mind while selecting a teaching
method?

(1) Parental background

(2) Mental level of the students
(3) Individual distinction

(4) Specific nature of subject
following is not a
characteristic of childhood?

(1) Lack of curiosity

(2) Stability in growth

(3) Extreme gregariousness

(4) Participation in group and games

+ Which one of the following is not related

to creative process?
(1) Motivation (2)
(3) Incubation (4)

Preparation

[HIumination
Which of the following is the first step of
growth and development?

(1) Social development

(2) Moral development

(3) Physical development

(4) Mental development

. Learning is a form of behavioural

(1) continuation
(2) modification
(3) withdrawal
(4) extension

. A Skinner box is used for

(1) operant conditioning
(2) motor learning
(3) verbal learning

(4) incidental learning ;

Bhatia battery test of intelligence has
(1) 8 sub-tests
(2) 4 sub-tests
(3) 5 sub-tests
(4) 7 sub-tests
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(4) T 8 1 99

10. BT % TEIOd SAeR % UIEA ¥ Gl w7

faft &
(1) =¥ TN HH
(2) 38 "r-foa = ghea s
(3) BE I sfoeg ==
(4) ETSG SHFTER F HI 1 Gdl ATHT G401
IR F G
11. oo gafyq 2
(1) TvEE =19 gudl g5 9
(2) oA g T g
(3) Ues Hadl wuEn @
(4) - gad R |
12. 3@ fam wd 2u-fifen e fag Ofes
WEYH # &9 § WG 63 5 w27
(1) =ifErEfya faaef
(2) #avETE frne
(3) Zfeariea faend
(4) wiife &9 @ fawam faanedi
13, #lo zEgo THo To &1 54 ®
(1) Pl SAEvgEd a1 9=
(2) fafime smawrwd amed o=
(3) WeEA ATATAEA] AT T
(4) Wg AETEEd a Aft
14, fa= § | @a-w1 Wl 1 0% e qE 87
(1) favam
(2) = afe
(3) wHEEHTL
(4)
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8. Who was the founder of Kindergarten

method?

(1) Montessori (2) Cook

(3) Froebel (4) Dalton

9. Propounder of collective counselling is

(1) Rogers
(2) Williamson
(3) Thorn

(4) None of them

10. To modify undesirable behaviour of the

student, the most effective method is
(1) to avoid it

(2) to inform it to the parents

(3)  to punish the students

(4)- to find out the causes of
undesirable behaviour and suggest
remedies

11. Dyslexia is related with

(1) problem in calculating
(2) problem in writing
(3) problem in reading

(4) language disorder

12. Braille method and tape-recording can

be used as educational provision for
(1) orthopedic impaired students
(2) hearing-impaired students

(3) visually-impaired students

(4) physically handicapped students

13. CWSN stands for

(1) Children with Single Need
(2) Children with Special Needs
(3) Children with Strong Needs
(4) Creature with Soft Need

14. Which of the following is not an element

of counselling?

(1) Confidence

(2) Professional growth
(3) Interview

(4) Communication

[ P.T.O.
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15. BRI, I i wel o 7 15. Where is Burcau of Psychology, Uttar
(1) Temmme (2) s Pradesh situated?
(3) wmaas (4) @) (1) Allahabad (2) Agra

16. N Ty B w5 ‘L‘-ﬁ d vd uiferes @ (3) Lucknow (4) Varanasi
it 4 o1, ad {-{l-n{.’\*].'I.;}-'T]i;:\i'\?l{ EAlo| 16. The relation which Skinner has with rats
(1) ﬂm“-i‘i 3 2) sadl @ a?nd .'l‘homdikc has _with cats, same
i *:g-,rﬂ 5 ) cl'-m@‘ﬂ 3 rclation Kohler has \fn_h

(1) hens (2) monkeys

17. AT %1 gaR ¥
(1) 3frm & 2y
(2) st ) wafy
(3) ity ¥ g T

(3) dogs (4) chimpanzees
17. Learning plateau is

(1) defect in learning

(2) cessation of learning

E‘” ?ﬁmn H fﬂaﬂawn , (3) arrested growth in learning
18. ﬁ'ﬁﬁ?ﬂ HAE AMHSH AHE JEdsh 6 (4) obstruction in learning
TG 18. The writer of the book, The Behaviour of
(1) & (2) YFAd Organisms is
(38) e (4) oiHeEE (1) Hull (2) Pavlov
19. B H Wl EER F AMaw g wAlfuE (3) Skinner (4) Thorndike
HEY T 87 19. What is the most important for the
(1) B8 ' training of right behaviour in students?
(2) YEFR (1) Punishment
(3) wwiEl (2) Reward
(4) HE HdER F1 TEd (3) Praise
20. TEE oY 3§ T ry (4) Presentation of right behaviour
re yeaife 2 20. Who had proposed the ‘Goal gradient’
fepan o cept i bl lving? =%
con 11 problem so VIng:
1 i
(1) FSer (2) TR (1)~ Kendler (2) Kohler
(3) & (4) foiss (3) Hull (4) Brich
21. #8 8 =1 gan-faew 6 GeEmam 3 s=fig .
T 57 21. Who is not associated with the idea of
. i micro-teaching from the following?
(1) =fas 7m (1) David Hume
(2) Zlo T T (2) D. W. Allen
(3) 99 (3) Bush
(4) UHEA ' (4) Achison
22. = 8 & #1a-71 fgv-aifem # v A 27 22. Which of the following is not the level of
(1) 9uadf teaching-learning?
(2) wfd wn (1) Reflective level
(3) #HFay wi ~ (2) Memory level
(4) adl T (3) Understanding level
23. f & @ A5 SR P (4) Distance level
far4qm -Aif TH 27 23. Which of the following is not democratic
(1) @ strategy in classroom teaching?
: (1)  Project
(2) s (2) Heuristic
(3) =amEm (3) Lecture
(4) wfere Rom (4) Brainstorming
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(2)

@) we wfl Fenfial f st | st
TR OF S SR 8
25. 9 § 8 F1H-9 W B =15 ey
e ® s T8 2o
(1) =f9sas sy
¢ (2) TEE w
(3) BE T
(4) #5
26. 9y § ¢ F T TFE
(1) 9g (2) eafqum
(3) +9uH (4) 3rse
27. "898 F0 drad 817 e wa g1t
(1) fares (2) T TW
(3) I=H (4) eIeHEHF 2
28. 7= 3 3 FR-w few w1 w2
(1) famaa
(2) Hfd
(3) @9
(4) @A i T |
29. foraw #1 s GFEoE FEEn § gea Wi
adl 2
(1) wadiEm £
(2) T o wfafmm A
(3) f=m $

30.

(4) 3 a4

U Fad Fefl A, HAl FEoay wed
gl F1 a@H =A@ Bl g UER
s § ffea 2

(1) ZEme grar=frao

(2) &gl wmEdiE

(3) erfikan srgu

(4) 39w # @ Ff 7
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Which of the following is not a
characteristic of inclusive education?

(1) It is the shift

in service from
the care of disabled children to
their  education and personal

development

(2) Inclusive education is a continuous
process, not an achieved state or
product

(3) It enhances learning only for
students with special needs

(4) It seeks to maximize the potential of
all students '

Which one of the following is not

rclated to Flander’s interaction analysis
system?

(1) Guardian talk

(2) Teacher talk

(3) Student talk

(4) Silence

In speech, the smallest unit of
meaning is

(1) syllable (2) phoneme

(3) morpheme (4) words

“We learn by doing.” Who said?

(1) Simpson (2) Dr. Mace

(3) Yokam (4) Kolesnik
Which of the following is not the level of

teaching?

(1) Reflective

(2) Memory

(3) Understanding

(4) Descriptive

The main operation in interactive stage
of teaching is

(1) perception

(2) action and reaction

(3) diagnosis

(4) All of the above i
A child starts fearing after seeing a black

cow, black dog and black objects. This
type of conditioning includes

(1) stimulus generalization
(2) response generalization
(3) response conditioning
(4) None of the above

7 ] [ P.T.O.
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WrT—II / PART—II
w1 : f&vdt / Language-1 : HINDI

31. W 1 forefiw = &7 fdwr (w3 wo 36 3N 37) : fau Mu wF=RE A
. wAge e ygad frefafiad gt & g fasey wifen)
| e § € YHfd SN AgE w1 g2 wad @ 2|
2] g Yoo oft agw &1 Wy oEEgm o T
(3) e - A W it 2| wpfa 3 A o forg sfraems
23 aeil b I fEe) Ager 4 el & e 1w, 13
(4) fewm fE Rt ot v firerd | de-E BH A s A
Y el #a sifg Shaarfa arg, AfrdisE o v
32. G5 w1 T — = of 7 FA T T IR § HET SRATFEES HI TEU Fd 2
APl BT o B 3R ATeeftorT sme e €1 gesft e BTl % Hid
(1) <9aTE T3-Me & 2| Al F Fuw 7@ TG & ¥l A 3
o YA STETAHAAT hl I(d & IC, TF-HIST F ALGY
@, 3 2 frn ® | o wrpfass sEged 39 & T
(3) TFEER 2| iRy & sffefls i w1 3R FEq eEeieEEs
. 1 TS0 qon gafawr ygEor F FRO N YER A
(4) TISER Hiqsh STl %o @ 31 Jg-diul it FEH F e
Pepun: TafE, g 3 qfy-amor A gee der @ g 21
33. T = FHAF T 36, Y2-M9 1 T 3 37
(1) wfa, == (1) e (2) WIsH
~ (3) SATRHTSH (4) <<
< 5 37. TATEATY TEHGAH 1 g T qE 27 :
(3) M, 5d (1) Ys-9di A Fh F Fww WG, I,
Rt - @ R B wR F e e
s - STRATHIES H TLTadl
- 7 :
. W R rpe e (3) DI WEEY % W wIE SR w5
(1) s, fieres T
Ao (4) SRR F& A E & @
o 38. wfaa frem i fafy 2
-, (1) s et (2) e e
(4) 1, mfw : (3) ohEd womet (4) NeREY gureh
39. ¥ 3 faeim A gf ¥ Prffe § @ 299-
35. ‘wif@ @1 siu1 9 TG —eHRE @ o a1 fored et e 27
wd 7 (1) Fowevr—faem (2) Per—aie
(8) WI—HE  (4) N
1)  HATHEHT HHEAT
= 40. fferfiaa 3 & F-w faeey wdh T8 27
(2) 71 % o A 1 & (1) s
3) @t $ Qe (2) SRTH—3-3ik
2 : e (3) STRH—ITE
(4) g g (@) wehl—Fre geu
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41, ‘= A R IS A ofteq W o g
&1 319 a7 27

(1) $ax sftn &) SIEHT s § w1 1)

2) =R v w1 el wfag g @

(3) Ryw H iy # Iwe B

(4) Tf = o & e =g w9

T

ST S 39F 4T ® GE(Ud wH-91 N1 Tow
34
(1)

42.

d@ 3 wwm R o wen
CIED]

= IV T Uy m—e e

S SOH SO 9F R Aem—ia
EIER]

e M 3R WA 37 T —ae T

FEE % fOT uE wse ¥ HEfud SE-"1 Sie

e 27

(1) S %8 @9 5 I a—3g=yd

2) Tm=w == 7 a—g o

(3) I HIEAl A @ B—AHG S

(4) s sfogm fo@ ™ % g0 @ ud @
A—umifeeTes

. Farm-fug i g & 2H-T1 919 3G 27

(1) =&, TE, 4@, ouft oft o §; 3 99

g AT AT

7 % 8 gren 7 TE o7 |

- (3) # =0 wEa?

(4) =@ gB1, ‘T w47

AFfE o 3EF AMIE F FHE-E SIS

TeE 27

(1) i oft e o wrEl Wi R —ga ae
%1l o gt = @

(2) i a2 w7 gad—ag w1 & fog
fadr v o) serd gt @

(3) Farél @ fir, ger # wEI—k fH @
et qadl fedfe # wgr

(4) @13 i glE an-an geg v AE wegd—
%13 i gidl ar-an s S @

(2)
(3)

(4)

43.

(2)

45.
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(1)  srfafems

(2) 91ee

(3) GATEH

(4) T

fraferfaa gmi 4 @ #9-w o™ 27

(1) -0 SH—ar=d avg § ufifed g
(2) TET SH—HTEAT FEAT

(8) T ATHT—3TheTd LT

(4) e % FH HEA—agd AGL 2T
wreRIfth o SEk a1 % 918 § § RA-Er Sie
e 87

(1) oA &9 A SH—ad H e g

352 IR FIIaT I SRE—3ITHT 29 J
T GEL 9T HEA

(2)

(3) Af@ 1 U1 AN TAGE—™ % FldEA
AT

(4) 3T 4 g3 HR—sId H GRAI

‘Tezd’ & diu-fe #1 g fawen -
27
(1)
(2)
(3)
(4)

PR § 3 Y@ T T T W
eifem |

(1) T
(2) EN
(3) e
(4) ¥

J= + €44
3q + 44
3g + €I

J€ + E4d
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51. =wEr’ # #m-w gy 7

(1) sy -
' (1) fmefierar #1 faard
2) 1"«:.'7_1_ (2) gFct =l fergra
(3) wIE (3) s a1 fErd
(4)  waiuRy (4) FAE F fard

52. 'STET-37R T | g T Eh‘lajﬁf% wals Wﬁgﬁf;—bﬁwmmﬁn

(1) 3 # difim @ FH-TT FAPR &7
(2) FH & (L) ©TE
o (2) T9ET
(3) W WU EMI |
(3) IHH
(4) =W T A
: (4) Zeoam
53. g oo & 8 12 yuH T ean?
- 58, ‘T au &
(1) =gsife
(1) +, 9,
(2) a1
2 T, 9,9
(3) 9=
(3] m! qi H
4) agEN
L @ 32,3 %

¢ ’ = 7 3
54. ‘= feuw He 21 59. ‘He® @I arey ®Y 41 27

1) () Fm
2) W ) i
7 . (3) W
@ fam I
55. ‘wreyran’ wer § 3w § 60. ‘s’ w1 wft-fasde w=y 20
(1) @q (1) &+
(2) wfa () R+
(3) @ (3) fo +
(4) g (4) fog + sorst
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T—III / PART—III
WIWT-II : Ot / Language-II : ENGLISH

61. Which of the following sentences has the
antonym of ‘narrow’ ?

(1) She is utterly selfish.

(2) I admire his broad outlook,
(
{

w

) He is a good boy.

£

) I know him well enough.

' 62¢ According to the NCF 2005, learning is
and in its character.

(1) passive, social
(2) passive, simple
(3) active, social
{

4) active, simple

63. What does motivation do in the process
of learning?

(1) It makes
undirectionally.

learners think

(2) It sharpens memory of the learner.

—~ (3) It differentiates new learning from

old learning.

(4) It creates interest for
among young learners,

learning

64. Fill in the blanks with apppppriate

prepositions : .
Ashoka is worthy _ remembrance,
(1) at {
(2) for |
(3) with

(4) of

i

65, What is the subject of the following
sentence?
No man can serve two masters,
(1) Can serve two masters
(2) Two masters
(3) No man can ~'
(4) No man .

*

Directions : Read the given passage carefully

and answer the questions (Question Nos.
66 and 67) that follow by selecting the most
appropriate option,

Among these adventures, in the year 1887,
was a youth called Jacob who was then
twenty-one years old. Although so young he
had already lived a risky and dangerous life.
He had been a seaman and crossed the
Pacific, and been a pirate and a river
patrol-man, a coal shoveller at a power plant,
a landless man and a'‘hobo’. He had tramped
the United States and Canada, switch rides on
freight trains, and dodging and fighting
railway men and police and knew all about
cold and hunger, and poverty and danger, and
he had served a prison-sentence of thirty
days.

Though he did little else, he had a great love
for books and words, and though he had
found no gold in the Klondike, these things
were soon to earn him a fortune. He came
back from Alaska after a year, suffering from
scuwg,.énd without a penny in his pocket. He

| had, however, a great wealth of experience

and he began to write stories about places he

1 had seen and the people he had met. After

months of hard work and hunger, he found
success. Magazines began to accept his
Alaskan stories. Soon, he was famous. In the
next sixteen years he published fifty books,

‘and made and spent a million dollars. He died

in 1916,
66. In the given passage, what do you
understand by the word ‘hobo'™?

(1) Someone who does not have a job
or a house and moves from one
place to other

(2) Someone who is brave
(3) A hero

(4) Someone who fights with everyone
and does not sit quietly ever

[ P.T.O.
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67. ‘Scurvy’ means
(1) an injury caused to the body from
Ireezing cold
(2) a sea-sickness
(3) a disease resulting from a lack of
vitamin C
(4) a feeling of hausea
68. Identify the wrong collective noun?
(1) Sheeps
(2) Scissors
(3) Army
(4) Daughters-in-law
69. Identify the correct sentence among the
following :
(1) Please overlook at my certificates
(2) Please see my certificates
(3) Please look™ at my certificates
(4) Please see into my certificates
70. Complete the following sentence with

71.

72.

the most appropriate word :

Let us not confuse liberty license.
(1) from (2) for

(3) with (4) than

Which conjunction will be the most
appropriate to  join the following
sentences?

He lost the prize. He tried his best.

(1) because ' (2) though
(3) as (4) for
Which part of the following sentence is

predicate?

On Saturday morning my friends and |
play football in the park,

(1) Play football in the park

(2) My friends and I

(3) On Saturday morning

(4) On  Saturday morning ... I play

football in the park,

GET IT ON
Google Play

78. What will be the feminine gender of

74.

75.

76.

77.

‘wizarcl’ ?

(1) Lizard (2) Fairy

(3) Witch (4) Ghost

The masculine gender of vixen’ is

(1) fox (2) horse

(S) O (4) deer

Which of the following sentences has the

f P
correct punctuation marks:
The minister said, “Elections will be

i held in MP, Bihar and Orissa.”

(2) The minister said, elections will be
held in M. P., Bihar and Orissa.

(3) The minister said “elections will be
held in MP, Bihar and Orissa”.

(4) The Minister said “Elections will be

held in MP, Bihar and Orissa.”

Which among the following suffixes is
not suitable for the root word ‘prevent’ ?
(1) (2)

3) (@)

ing ive

able ious

Identify the phrasal verb in the following
sentence :

“Thieves broke into the bank in the

middle of the night.”

78.

79

(1) into the bank
(2) Thieves broke
(3) broke into

(4) middle of the night
Complete the following sentence with
the most suitable option :

“I didnt know ____ in the party.”

(1) somebody (2) nobody
(3) anybody (4) someone
Which of the following is not a

homophonic pair?

(1) Stare-Stair

(2) Principal-Principle
(3) Kite-Kit

(4) Steel-Steal
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80.

81.

82.

83.

eY

Which of the
have a silent letter in the pronunciation?

following words cdoesn™

(1) Orange Honest

(2)

(3) Knock (4) Debt

Which part of speech is the word ‘who’in
the following sentence?

“God helps those who help themselves.”

(1) Adverb (2) Noun

(3) Adjective (4) Pronoun

Which part of speech is the word ‘so’ in
the following sentence?

“Shruti wanted to work so she went to
her room.”

(1) Verb

Interjection (2)

(3) Preposition (4) Conjunction -

Which of the following sentences has a
‘modal verb’?

(1) His father knows me well,

(2) Ram is an intelligent boy.

(3) He is flying a kite.

(4) Her mother ought to know what she

is doing in Mumbai.

84, Which of the following sentences has a

possessive pronoun?

(1) Her sister is known to me,

(2) He could not help me,

(3) Ramesh who is my grandson, is
reading a poem.

{4__). Our“s._is. a vast country.

11

B85,

86.

87.

88,

89.

90'

GET IT ON
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Which of the following sentences has a
collective noun?

(1) Raka is a fool,

(2) Cattle are grazing in the field,

(3) He has a lot of milk.

(4) The air is cool here.

Identify the sentence in passive voice :

(1) He will be taken care of.
(2)
(3)

~
(4) Ram is flying a kite.

He teaches Chemistry.

They live in this city.

Identify the sentence in active voice :

(1) 1T know nothing about western
philosophy.

(2) French is not taught in my college.

(3) Their friends will be. caught
redhanded.

(4) He was knocked down by a car.

Which of the following sentences is an

exclamatory one?

(1) She is a small creature.

(2) He cannot speak well.

(3) You are really very kind.

(4) How beautiful is the morning today!
Which of the following words has a silent
letter in it?

(1) Cure (2) Calm

(3) Fawn (4) But .

Which of the following sentences has a

direct narration?

(1) He said to me, “Do not cross the
limit.”

(2) He has told me that his father was a
police officer,

(3) My mother tells us that her uncle
was a salesman.

(4) Shyam said to me that he was not

at ease yesterday.

[ P.T.O.
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a—III / PART—III

WINT-II : |§EhRd / Language-II

61. ‘99 TaM:’ % Sr=aREd e
(1) ey gw
(2) =9 gfay
(3) ey gty
(4) =9 T

62. g ®&' F AR BT
(1) Towfs: st

63. 100 T& I JgHE ¢

(1) T o
(2) TG e
(3) ¥ gE:
(4) EET: Jou:
64. ‘ﬁam:’qaﬁawﬁ%
(1) fom
(2) fa
(3) fam
4) fa

65. ‘fug’ wez 1 fydin, uFEw 9 %
(1) foam
(2) fagm
(3) foay
(4) faem
66. ‘T @ % wwdl, ukaEd ¥9 R
(1) 4@
(2) am
@3) 7@
(4) AW

- Paper-2/B.
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67.

68.

69.

70.

71,

: SANSKRIT
Hren wry: foen &8 F s = grfza:
1IN G BHEG ) 41|
adta: qume w9 qafd?
(1) = 4=
(2) 9 gad
(3) 7 T
(4) = fasfa
i v e 3 34 =l 7 aifea: |
J A GUTHES EEHS Fh 497 |
ATAITSEA HIATGA o 9ed: 7
(1) I
(2) fedfton
(3)
(4) TeTEh

‘it w1 gy fa=ss 2
(1) =@+ Al
(2) 3fa + amfg
(3) ¥ + M
(4) 3fe + 3

378y UG TE ¢
(1) faomy
() T
(3) TR
(4) TR

“rasfy’ # wfY R
(1) 9d&Y

(2) s

(3) WE4

(4)

[ P.T.O!
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72. ‘A’ 1 TemEw 2 77, ‘wfear’ s & forw @
(1) fafs (1) FgEeHfer
(2) #Hish (2) gferw
(3) dg: (3) wifers
(4) Usid (4) Ffew
73. % -9 ez g 1 qEigar A€ 87 78, ‘oo wet g fwfE, gae H w9 R
(1) wrg; (1) ST '
(2). fieg (2) T
(3) fm: ' - (3) =T
(4) | : : (4) ST
74. ‘fam:’ wrseEy #1 g9 B 79. ‘F’ wwe qaH), CHaEA 1 €9 ®
b b
(2) THIEH (2) A _
. fﬁn -4 P o ,
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‘wa' e =g, THaEA, g o e R

82.

83.

84.

85.

86.

(1) Ha&
(2) W4
)

(3) wHalY

(4) ¥d 9

‘wwrfe’ 9 g uig 1 R?

(1) =8

‘et § # -4 wHE B
(1) “AerdfisrE

(2) =Aife

(3) wHUA
(4) RN

Paper-2/B
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87.

88.

89.

90.
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g e weE-Tae R
(1) T ga:
(2) ST g

(3) TH: YA:

(4) TS + G

“Hrerrug:’ § wHE B

(1) FedfivE

(2) il

(3) ==

(4) fay

;ﬂﬂw: IS: SE WS - R
(1) &

(2) @EEH

3) HTEH

(4)

“gafer omen wfR’ W oA A wAER
FF | 27

(1) @

(2)  sifereRer

(3) M

(4) SR

I PO
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WIT—IV (1) / PART—IV (1)
NCRCRERIE / MATHEMATICS AND SCIENCE

91. friferfed & & #a-w wwh wrHfs Wwn w27 | 01, Which one of the following is not a
(1) ‘2‘5'22-1'{31-1- (2) hieN natural fibre?
3 rvlic 2) Cotton
(3) foes (4) w2 (1) Acrylic (2) Jf}t
- 3) Silk (4) Jute
92, IH TR R (3) Si :
- - 1 P P ification o
(1) 9=t (2) T 92. Ginger is the modificatio
3) W (1) leaf (2) stem
A g (3) root (4) fruit
93. SAIH Fet I B ¢ _
qvg‘g]' -5 : X 93. True fruits develop from
& X ‘E ' ) i (1) petal (2) ovary
) N ) ; | (3) thalamus (4) sepal

94. TET YIRY, W1 wiw Y E siwny % HeEw |

3 94. Plant which reproduces by means of
TS Xl §, ©

spores instead of seeds is

(1) o (2) ()" fern (2) mustard
(3) wf (4) dgiEn (3) coriander (4) petunia
95. Tigi & TEH-Gv9Y & fau Afad a« 2 95. The element, essential for synthesis of
(1) RISH (2)  AefifiEm protein in plants, is
3) ﬁﬂ; @) o (1) nitrogen (2) 1':11agnesium
, (3) copper (4) 1ron
96. F=fafiad § ¥ FH-T T M-GIQ W TE g
27 96. Which one of the following is not a
non-communicable disease?
(1) =i 2) ‘t_%‘{*" (1) Arthritis (2) Rickets
(3) T (4) <RI | (3) Hypertension (4) Cholera
97. AffHfer st & ym A g 97. Penicillin antibiotic is obtained from
(1) a3 (1) algae
(2) ?ﬁ?ﬂﬂﬁ (2) bacteria
(3) w2 E (3) fungi
(4) Hra-zfE faTa | ' (4) blue-green algae
98. fafafiad § 4 #1H-91 s &1 Gid TEl 27 98. Which one of the following is not a
source of energy?
(1) =, (2) fafm (1) Fat ) PR
3) Wi (4) FTETEEGE . e
( < . A (3) Protein (4) Carbohydrate
99. DNA & & FTHz 1 gl ST _ 99. The coding segment of DNA is called
(1) %2 (2) e (1) intron (2) codon
(3) WA (4) T (3) muton (4) exon
100. f=faflad # & #A-w1 wF gan NH-T T | 100, Which of the fellonin it o o
77 . micronutrient?
(1) a#qt (2) fafesta (1) Copper (2) Silicon
(3) wifeaw (4) wfewan (3) Sodium (4) Calcium

18
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101. 4% Th B9 R e S0 H A w0 R | 101, 1f each edge of a cube is doubled, then

ST, o9 396 F‘F‘I\Uf ys & aawe d fee the percentage increase in its total
wfeera = gfg Af e surface area is
(1) 300% (2) 150% (1) 300% (2) 150%
(3) 200% (4) 600% (8); 200 (4) 600%
103, ;@ _b_c a+b+2¢ .
102. uf ‘;__H_g’[ A a+l‘;+2c 3 If 3 2T then oy — is
(1) ‘4 (2) 35
(1) 4 (R)s 354
(3) 38 (4) 5
(3) 38 4) 5 |
_ 103. Find the value of K for which equation
103. K # ¥R g #iwe fwes fau wfswwo | 0 x-Ky=2, 3x+2y=-5 has unique
x-Ky=2, 3x+2y=-5 % Ada 7 8| solution.
: 2
-, ; 2 | ka2 2) K=2
(1 K== 2) K#2 (1) - (2) =
= ) - =2
3) K%—%%_ () K'=._—2. 28 (BB Mo o

can do a work in 6 days. B takes
days to complete it. C takes as long as

nd B would take working together.
"'long wﬂl it talce B and C to

104. Aﬁm?mahsﬁqﬁm%i B@hm
s%ﬁggaagr%a ca%ﬂﬁm_ah@_

[2')- S days

-'-..L-- -

&‘]2 days
i

; "ﬁs 58 5 Later on, it was
t._the marks of one sp:udcnt

(2] 209
oV IR i RS

d of the points (&5): (6 y) and
mx, then ﬁmi thn values of x
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107. g9 ax3 +bx2+ x~6 W e
%x+§)mwwﬁg§(x—?amm
: 4 WIH & -
B iy | a 3 b &1 uH
(1) a=1, b=1 (2) a=0, b=2
(8) a=2, b=0 (4) a=7, b=5
108. T ey foreg snradl svmels de B @
(1) T wrFfos e
(2) = ufom gen
@) T s
4) T ity @
109. et 7 fo3 §, pAB 99 ) .
mﬁm%wﬁm:s@m ﬁ:ﬂﬁg
qt AB il 9y y1a $ifsn)

GET IT ON
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ax3 +bx%+x-6 has
s rem'aindt‘.’.r 4
d the value of

107. The polynomial
(x +2) as a factor and leave

when divided by (x ~2). Fin
a and b.
(1) a=1, b=1
(3) a=2, b=0 (4)
108. A non-terminating but recurring decimal
is
(1) a natural number
(2) a rational number
(3) an integer
(4) an irrational number
109. In the following figure, PAB is a secant
and PT is a tangent to the circle. If
PT=5 ¢m and PA=3 cm, then find the
measurement of AB.

(2) a=0, b=2
a=7, b=5

() 24>
) =822%;
. : S
~)", then the value of m is
OF & mr @) fnslr W ae

@

.’EW bite Gl s T
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114, oo 999 A 8"n it sure W gy | 114, In what time will the simple interest be

&qTe], HeiE —m ﬂ:nﬂ |) of the principal at 8% per annum?
W)
. 7) R &Y (1) 5 years (2) 8 years
(1 5= (@) (3) 7 years (4) 6 years
(8] 7 cmi (4) 6 @t o | _ ; .
5 115. The smallest number, which multiply to
115. 8 SIA-8-B weE, fored 33275 am 33275 to get a perfect cube, is
F W W _plwm o ] ue R, R (1) 5 @2y 2
(1) $§ (2) 2 3) 3 4 6
(3) 3 4) 6 116. If HCF of (p? - 8p+12) and (p2 +4p-12)
116. 3R (p2 -8p+12) § (p"2 +4 p~12) =l HETH is (p-a), then the value of a is
FUIEHF (p—q) B, 98 a FH TR & (1) 2 (2)" =2
(1) 2 (2) =2 (3) -6 (4) 6
3] £ 4) 6 117. The factors of polynomial
% 3 > : x3-6x2 +11x -6 are
117. Sg% x° —6x2 + 11x— 6 % JAETE & (1) (x=1(x+2)(x-3)
(1) (e—I(x+2(x-3} 2) (x-)(x-2)(x-3
) (=D (x-2)(x—3): (3) (x+1(x+2){x—23)
B) (x+D(x+2(x-3J (4) (x-1)(x-2(x+3
| o iia =y et o) 118. The equation whose roots are P79 nd
- v
118.?@,%@@?_&@_&%,% e

p+q p—q _ P i be—

2.2 2 20
(1) p q x +pqx+2{p+q)
2 ) p%gPx?+pax+2p+g?=
2) (p? -g%)x2 +4pqx—p +q =O

(L (Dt @ b @) (p%-q%)x>+4pgx-p>+q°>=0
ot + = + =
Bhele < e SpEGR R @) (p2+q"’1x2+8pqx—2tp+q)2=

2 : . 2
el @ Zx?Exipra®-
q J | q2 q
119. 7% WfEF ol 7 16 foenfddl & 7w # . 119. The marks of 16 students in math in
EF 0,0, 2,2, 35303, 8 5, 58576; | monthly test are 0, 0, 2, 2, 3, 3, 3, 4, 5,
6,6, 7, 3% a’twﬂm 5,5, 5, 6, 6,7, 8 then mode will be
(1) 6 T 2) g W ! (1) 6 : 2) 3
@ 5 1.7 g il

120, A% 32 _3x_3%+3 32 @ g . % | 12010 GRXHLL MBI XOT_ 32 US (e the
; values of x are

AA E
1300 il a0 2) Q-1
1 -1,-2 (2) 0,1 23; 1, -2 {4; 2l
@3 1,-2 4) 2, -1 121. In a lea th bability of
121. wm % 53 Tﬁaﬂﬁ’}lﬁmﬁWﬁ 53 Sungab;esafs S I (G A gettmg
o 3 a3 1y 3 1
(1) > | @) - (1) ,2] (2) -
@ 2 4 5t 2 s
(3) i (4) : | (3) 7 (4) =
mzAﬁW % %z @ 12 @ A 70 w 122, If distance between centre to chord is
|*mﬂm 10 & A, ﬁ‘f‘iﬂﬂm’s\‘fﬂ 12 em and length of chord is 10 cm,
1 @m (51 o then the diameter of circle is
An. _ (2) 1_3 _ | (1) 14 ecm . (2) 18 cm
(4) 30 @ (3) 26 cm (4) 30 em

21 [ P.T.O.
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123. f3u v fog § AB= AC 3t ZACD=105° 8,
a9 ZBAC FUEt R

A
105
3 c D
(1) 105° (2) 30°
(3) 60° (4) 75°
124, IR (B-A) F1 30% = (A+ B) F1 18% @), @

U A: BEM
(1) 5:3 2) 1:4
3) 4:1 (4) 5:2

125. 9 &AW 3:4 F g ¥ §| I9F FoHo dUT

g:?omwa 2028 B | WA 1 ATEA

(2)

(1) 86 68
B 72; - (4) 91

126. IR a* b=(axb)+b 3, ?ﬁS*?W%
1) 42 @) 2

123.

124,

125.

GET IT ON
Google Play

In the given figure _AB=AC;»' : and
LZACD=106% then ZBAC is equal 1o

105°
Bi1C D
(2)

(4)
18% of (A+ B), then the

30°
73°

(1) 108°
(3) 60°

If 30% of (B~ A) =
ratio A: B will be
(1)17§:8
(&) i1

1:4
b5y

(2)
(4)

Two numbers are in the ratio 3:4. The

product of their HCF and LCM is 2028.
The sum of the numbers will be

(1) 86 (2) 68
3) 72 4) 91
If a*b=(axb)+b, then 5*7 is equal to
Sl )2 o )
L858, . @) 59

Which of the following is the best

method to tear.:h gcomatry?
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131. i I TI ¥ Tefim st @1 g #A % | 181, Which of the following properties of
foe e H ﬁi—?f qfaa ol # A R g water can be used to explain the
S5 S T R apherical shape of rain droplets?

R _ (1) Critical phenomenon

(1) i-.-iY--rr-i- yigE (2) Viscosity

(2) ¥ (3) Surface tension

(3) 9B ANl (4) Pressure

(4) S8 132. Which of the following is a greenhouse
132. Prefefas § @ A9 -d DeEee T R? gas?

(1) A SRS (1) Carbon dioxide

(2) ¥t (2) Argon

i AR (3) Nitrogen

Wi j'ff‘fm (4) Oxygen

;:‘1 aWﬂm 133. Which of the following metals is not a
133. F=faiad A -9l H1d gt qﬁ %? mineral?

(1) feem (2) THIEEE (1) Gypsum (2) Hematite

(3) wieETEe (4) fodEmREe (3) Bauxite (4) Limonite

134, F=foiian uigei 4 9 H9-91 39 &7 134. Which one of the following non-metals is
(1) W? (2) aﬁnﬁ—; hlqmg? 1f 2) Bromin
(3) H (%) i :3; IoL(l:lirL;; i’-}; Ph?:sph:;rous

135. e 3t 3 Wedndl 7w, W NG ! | 138 whi g 1% :

X : A ich scientist discovered the
(1) SefeA Ferfer radioactive element, radium?
(2) FESS A (1) Benjamin Franklin
(3) e IREH (2) Isaac Newton
(4) 0= (3) Albert Einstein

136. e =0 9 ‘WA-Fa é‘ﬁn% B Marie Cune
(1) Tewfia - 136. What is 'the reason of ‘stone-cancer’?
(2) o = . (1) Ra-dloac.twlty

5 s s _ A (2) <Acid rain ' ;
(3) : : ‘ (3) Global warming
(4) e e ¥ (4) Bacterial activity

137. ‘7157 ¢ | 137. Brine’ is
(1) #EEA = S e (1) aqueous solution of chlorine
(2) NaCl %1 g faeraq (2) saturated solution of NaCl
(3) o= Tﬁ %] |IHT 9 (3) common name of bleaching powder
(4) Nao804 1 st faer L '(':1-)1 aqueous solution of NaoSOy4

; . The gas us i ifici ' i

138. 7 el %1 F0m 21 @ v &g e e o gaaas. inexiRcla, sinening, of
(1) g (2) Uefifeedia (1) hydrogen (2) acetylene
(3) 344 (4) ATELISH (3) ethane (4) nitrogen

139. E“Ei- "H@'ﬂ‘l e =1 wfderd # 139, The percentage of nitrogen gas in the air
(1) 215 (2) 40 is
() 78 4) 3 (1) 215 (2) 40

140, @9 # (3) 78 4) 3

(1) e w u gaEgd 140, Ozone is
(2) sifadism 1 v i (1) an isomer of oxygen
igj WWE Syt (2) a compound of oxygen

i _ (3) an allotrope of oxygen

(4) an isotope of oxygen

28 [ PO
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- 5 s =T ass mis p.
141. m SHHEM & GF H0 F G p ¥ gaeh) 1R 141, Momentum of a particle of m

Sl g Its kinetic energy will be

- 2
(1) R’Df m (2) mp (1) p“/m (2) mi;j

2 2 - 2.0 . “/2m
(3) p»*m (4) p*/2m (3) p~m 4) P~/

is C ed to a
A battery of 15 volt is connect

42. 4, 10 3R 20 39 F vy % o wge | 142. : :
B B Pt el B o parallel group of resistances of 4, 10 and

# ]3 e '4}\ qiﬁ § Sg1 S &) fey 20 ohm. The current in the circuit will
TR (A = UfFeR) be (A = ampere)
o s (1) 4A (2) 8A
ek i (3) 6A (4) 2 A
143. ﬁf—iﬁfﬁdﬁ el § § F9-a1 EFEE | 143, Which one of the following materials is
o y ferromagnetic?
(1) wet (2) ¥ (1) Wood (2) Gold
@) Fa (4) WS (3) Nickel (4) Manganese
144. w3 1 919 sty 2 144, The speed of sound is me‘ucimum in
(1) Taiq 3 2) Iy H (1) vacuum (2) air
(3) s=4 f[ (4) Wﬁ (3) water (4) steel

145. When a glass rod is rubbed with silk,

145, 59 ?ﬁl %l TH E‘S\ﬁ WH A TS ¥, 79 3] then which type of charge is created on
W T8 THER B AV 9 2] 27 it?
(1) 91 377a (1) Negative charge
(2) To=pg e (2) Electric charge
(3) H7 = (3) Positive charge
(4) 394F | ¥ *iE 78 (4) None of the above
#fda R goe | 146. On a moving plane mirror, incident ray
146. @gﬁ it E%m“_rh“ ikl q-{_cﬁm s 60 forms an angle of 60°, then what will be
L2l TN 2, 1 WA - o= Wi the reflected angle?
(1) 90° (2) 30° (1) 90° @). 30°
(3) 60° (4 120° (3) 60° (4) 120°
147. Fefafas & &4 #F-m o & qd-e 147. Which one of the following is a
HHI9H 27 : renewable resource of energy?
(1) 9-5id - (2) upfas Ty (1) Ground water (2) Natural gas
(3) U2feam (4) Fren (3) Petroleum (4) Coal
148. 214 & Ham 3R 97 % a9 § FA-6 N | 148, Which physical unit is obtained by the
ufer 9 # S 27 ratio of momentum ang velocity of
> %‘T . Mmatter?
| (1) ZeHHIA (2) , (1) Mass (2) Velocity
(3) T@w (4) =< (3) Acceleration  (4) Roree
149, T FHHL S € # 149, One nanometer is equal to
(1) 1078 ¥ (2) 1076 @ M 1078 em 5
3 A @) 107° cm
(3) 1077 @ (4) 1077 @ (3) 1077 em (B)1079 o
150. 34 4 T X-fopuoit a1 afareerTe e ? 150. Who discovered X-raysp
(1) HeeEe (2) TwHE (1) Maxwell (2) Rutherforg
(3) T=SH (4) efael (3) Réentgen (4)  Torricen;

.
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a—IV (2) / PART—IV (2)
ATk 37e0a4 /310 fawa / SOCIAL STUDIES/OTHER SUBJECTS

91. NI ﬁ_”*” 1 RN ¥ 91. Objective of physical education is
(1) Wk %WW (1) mental development
(2) Wﬂ'ﬁf‘“jaﬁm (2) physical development
(3) wEETTE o™ (3) psychological development
(4) I ol (4) All of the above

92. sefi=s ¥ w=ie ﬁWT\?ﬁ B 92. Which player is related to Badminton?
(1) <9 FHHR (1) Dipa Karmakar
(2) e de Ry - (2) P. V. Sindhu
(3) =g st (3) Sania Mirza
(4) T == (4) Duti Chand

93. TE § Fuy SUS] 1 U WIan 27 93. Fﬁlsistare VXY riCh{Qir)l ot

a protein

:;; El'ﬁ'lﬁ & {ji 2?\_}_' (3) vitamin (4) minerals

94, Effect of the consumption of LSD is
(1) liver disease (2) cancer

94. LSD % 994 € a1 &

(1) IFa F1 AT (2) R (3) kidney disease (4) hallucination
(3) bl 1 Tm (4) wHfE foym 95. Benefit of exercise is :
95. EH F ¥ & (1) agileness
(1)  Fdiema= (2) increase in blood circulation
(2) TF ¥9E | 3G (3) increase in appetite
(3) @ oI ' (4) All of the above
(4) zud® o 96. What is pie diagram useful for?
96. 31 @ I 2 (1) Showing a particular amount in
(1) =9 ¥ gy 3§ 5 o™ S T relat19n to the whole
% 5ehid =0 F fou (2) Show1ng a pgtt_ern
(2) TF S 3 w2hiE =4 ¥ fau (3) Com]_:{anng d1ffe_rent amoun_ts ‘
3) S TEEt A el 3 ¥ fau 4) g?:i;v:lng features of the historical
(4) ;:ﬁ%qlzlﬁlﬂ; Fafy = ey 3’71 Gl 97. In 'tSiOCial Science, the r;:iccnt lE‘JCF
osition paper on examination reform
97. E‘:{T"T quanﬁimqg?; ';!gﬂ?:mq{%m q & Emphasizlgspon
P o P 1) flexible sittin i
(1) wiien % |q9a 934 1 el Hae T % testing BB S
(2) when FeEA (2) test performance
(3) TAI-gErE FhE T (3) open-book exams
(4) waq AHed T (4) continuous assessment
o8, AmIfaE wwga g &1 v & 98. Aim of social study teaching is
(1) g8 AT BT (1) becoming a good citizen
(2) | faoma #1 faa F0 g; gevc1opment ot‘fcultural heritage
: :ﬂﬁﬁ'ﬁ'ﬂ T evelopment of national integri
@ %ﬂ i 5N and international understandir%; %
(4) m A (4) All of the above
99, A F1H-HE wrar 2, waife 99, E!')Djelct Wt?l‘k iz in:iportant. becaui‘ze
1) F0F @@, w ﬂwm earning by doing is more asting
{2; 78 faenfifdl ) Tesren e & ; eAming ,
@) 7 R A T w1 (2) it enables students to be crcat'lve
(4) @ T ﬁ: lﬁmm IWI; & bt (3) it enables teachers to be creative
" Aemd (4) it creates some work for studen:cs

25 ' [V PIBIG3
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100. 3 dgerdrardl ware #, i fagm 4
UISIgEIH )
(1) Toamerge gedi & a=-1 =iy

(2) &R = faumri =1 yefdfa w1 afey
(3) gEEEH ) Y HI WeRld HEA =1iee
(4) wsht bl o wEfos w98 = Wi

FET AR 91 Al T F1iRe
YR el § gg % Siad F 59 g9 #
Terror =36 gRT goTT 7
(1) 999 3923
(2) GEIY
(3) wETeRY
(4) Tt
Mod gg F1 5w e § gen a1, wh g
fros A A adi 27 7
(1) =d
(2) 2=
(3) HHTH
(4) YoohfIE 11
frafafas # @ #9-w e aifefss
femren % for wféng 27
(1) ofrgares (2) 3w -

(3) T (4) am

‘i wa’ v g | TR ) e
(1) THe Sfo TR
(2) <awEAIY 2R
(3) TS THHIES U9
(4)  STTCHRH 9Tgi
105. TFEF IaE FI 8 WRA 5| TN S
A feg vmraRa g7
(1) TS g I
(2) wre afen
(3) TS FoH
(4) TS I=HE
106. ¥ ¥ 5@ 19 9ER 3 TS THEER T A
--Nﬁw%wﬂn;ﬁaqﬂmm?
(1) ETgRTE 1
(2) IMEHTEH I
(3) IMEATHH II
(4) IFS I
107. fe< fauan g-
(1) 1846
(3) 1856

101.

102.

103.

104.

Aty = 5 & T ad

() 1816
(4) 1826

i

GET IT ON

Google Play

pluralistic society,

Science shoul
rsial issues

100. In the Indian_
textbooks of Social

(1) avoid controve

(2) reflect the govcrnmentjs views
(3) reflect the majority opiniont
(4) include and represent all religions

and social groups
101. Which incident from the life of Budcha
is symbolized by wheel 1n Indian Art:
(1) First sermon
(2) Sambodhi
(3) Mahabhinishkraman
(4) Nirvan
102. That Gautam Buddha
Lumbini is confirmed
inscription?
(1) Harsh
(2) Ashoka
(3) Samudragupta
(4) Pulkeshin Il
103. Which of the following places is famous
for prehistoric paintings?
(1) Bhimbetka (2) Amarawati
(3) Sanchi (4)
104, Who among the following had founded
the Atmiya Sabha?
(1) M. G. Ranade
(2) Devendranath Tagore
(3) Raja Ram Mohan Roy
(4) Atmaram Pandurang
105. In whose viceroyalty was the capital

of India transferred from Calcutta to
Delhi?

(1) Lord Hardinge II
(2) Lord Reading
(3) Lord Curzon
(4) Lord Chelmsford

8 Mughal emperors
han Roy to London

was born in
by whose

Bagh

as his messenger?

(1) Bahadurshah |

(2) Shahalam I

(3) Shahalam II

(4) Akbar II

107. The Hindu Widow €marriag

passed in Whict}ilocr; tll'-fc' fblldwin; ;:;r “;as
(1) 1846 (2) 1816 :
(3) 1856 (4) 1826
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108. & 3Ueq el ) g % @9y 9RE

TS FH 77
(1) IR g (2) IR
(3) &R (@) aNiTHe
109. 3@ e sifern o | fro @ o &
forsg 947

(1) YL SFEAR FrEnl
(2) WehgH e W
(3) T WAL TS WA

(4) 3Tsg@ Fi e

110. ¥ <EUE H ¥ ‘e F AW ¥ &
e a?
(1) ST (2) TR
3) T (4) wTESTEL
111. Fr=foiRaa § § e 71 8 2011 H S0E]
§ THEEE M SffEd 3T »7
(1) P
(2) W
(3) TeER
(4) STTRTS
112. EEUSTE T8 w f&mE R
(1) T=r=d (2) T
(3) TEWE (%) KT
113. ‘HE TH SR &
(1) Fur=id 3 F
(2) 3TEF IS &
(3) 3FEE A F
(4) 9dw HE FE A
114. 3 31 77, T9% TR 94 3, ¢
(1) 9 R M
(2) 9ol 3R FEerd
(3) 39 MILF
(4) F ST
115. @egm goege A e 2
(1) 7= g1 (2) @ma = Grgt
(3) wuiia we@rR  (4) fee wEER
116. Fifufiza 3 @ fFa 4a 1 ‘fava F1 wea@
g1 Sl 27
(1) @& 49 s
(3) wEeEREE &7
(4) 25 43
117. Teafertaa # @ frd ‘wan 41 d #7d €7
(1) (2) e
(3) Hags (4) AR
I A AW AL FOHEE 6T
(2) rerer
(4) N®

27
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108. Who was the ruler of India at the time

of the establishment of East India
Company?
(1) Shershah suri (2) Akbar

(3) (4)
Sheikh Nizamuddin Aulia was a disciple
of whom of the following Sufi Saints?
(1) Kutubuddin Bakhtiyar Kaki

(2) Makdoom Yahya Maneri

(3) Baba Fariduddin Ganj-e-Shakar
(4) Abdul Qadir Gilani

Who among the following emperors was
famous as ‘Qalandar’?

(1) Akbar (2) Babar

(3) Humayun (4) Shah Jahan
Which of the following states recorded

Jahangir Aurangzeb

109.

110.

111.

decrease in its population in 2011
Census?
(1) Manipur
(2) Uttar Pradesh
(3) Bihar
(4) Nagaland
112. Hyderabad is situated on the River
(1) Godavari (2) Musi
(3) Mahanadi (4) Krishna
113. ‘Coal’ is an example of

metamorphic rock

igneous rock

sedimentary rock

None of the above

two planets having no satellite are
Mercury and Saturn

Earth and Jupiter

(3) Mercury and Venus

(4) Venus and Mars

Lakshadweep Islands are located in the
(1) Arabian Sea (2) Bay of Bengal
(3) Pacific Ocean (4) Indian Ocean
Which among the following regions is
known as ‘orchard of world™?

(1) Savanna region

(2) Mediterranean region

(3) Equatorial region

(4) Tundra region

Which one among the following is called
‘Roof of the World'?

(1) Pamir (2) Aravali

(3) Satpura (4) Myanmar
Which of the following is the world’s
largest desert?
(1) Sahara
(3) Gobi

(1)
(2)
(3)
(4)
The
(1)
(2)

114,

115.

116.

117.

118,

(2) Kalahari
(4) Thar

[ P.T.O.
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119, ;]-*Iﬂ g wafssrelt et gResen el
(1) Sg-gei
(2) #WREYE
(3) 3IdTEvE
(4) Al
120. Fefoied & § 96w Ay woe 7986 27
(1) =™ (2) =T
(3) (4) g
121. TR (o e Ao 3fo) =1 geaTew A B
(1) wead (2) Fued d
(38) =i+ H 4) ufmd
122, ¥ 9Rym ) sy AT A
ST 1 IZ@ 27 o
(1) 24 (2) 18
(3) 28 (4) 22
123. FfefEs @ ¥ F9-91 w yRdg dfaam
TEATEA1 1 9T E 27
(1) TTIES (2) sfEd
(3) WHIER (4) el
124. FFISH. FoFE & fgm § ged we=g
HEEE HIET -9 27
(1) =dE-Fufo
(2) =N
(3) #A-T97
(4) dE-faarg
125. 3= WIHE T W FHE-9@ vy o
FET A witfea & 87
(1) zfaerg
(2) TSHITGTE
(3) ZElTE
(4) sphe _
126. a9 891 & Rl Feam
(1) =io sz y@TE
(2) o wferer= fien
(3) SHETELAT AEE
(4) o %o wao Hafi
127, Tgafd =i H I0% wAEd Fd fras
g fog sird 27
(1) T
(2) guEER
(3) F9trgHfa
(4) Wnd 1 ged A
128.

frafafaa 7 4 e afvdg @l @1 v
HaE g1

(1) e e dle Ao
(2) o ‘3‘9 go Ao
(3) TWAe Hlo Ele _
(4) IJGwEAA@FEAE

28
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; r ject is
Palkal Dul’ hydroelectric power proje

gituated in

(1) Jammu-Kashmir
(2) Jharkhand

(3) Uttarakhand

(4) Karnataka '
Which one among the following is not
a plantation crop?

(1)~ Tea (2) Coffee

(3) Wheat (4) Rubber
Headquarters of NATO is situated at
(1) London (2) Bru’ssels

(3) New York (4) Paris

How many languages have been

mentioned in the Eighth Schedule of
the Indian Constitution?

(Dsn% (2) 18

(3) 28 (4) 22

Which one of the following is not a part
of the Preamble of Indian Constitution?
(1) Democratic (2) 'Secularism

(3) Socialism (4) Federalism
Which is most important aid in the
teaching of social studies?

(1) Work selection

(2) Lecture

(3) Audio-visual

(4) Debate

Which subject is not included in social
science at upper primary level?

(1) History

(2) Political Science

(3) Philosophy

(4) Geography

Who was the permanent President of
Constituent Assembly?

(1) Dr. Rajendra Prasad

(2) Dr. Sachhidanand Sinha
(3) Jawaharlal Nehry

(4) Dr. K. M. Munshi

In the absence of the President

to perform Presidentia] functio
(1) Governor

(2) Prime Minister

(3) Vice-President

(4) Chief Justice of India
India is the mem ;

following nuclear t?:;ﬁgi?whmh of the
(1) PTBT

(2) CTBT

(3) NPT

(4) None of the above

who has
ns?
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129. TE T H el wifd T g W i )
g Uy g firen #7
(1) =i
(2) e
(3) =it ggm
(4) 3w § @ Y AL
130, frfefgs § ¥ ®9-w @k TY 99 A

arfirer vt 87
(1) dge Uy Qualdrn, S oM HEH
RUER

(2) Tavs ey @eA
(3) TR 3N FN WA

(@) FEE FRETEH
131. $9-¥1 35w feem @R’ % AW /S
el 8¢
(1) HI=EE Go%e
(2) Ffouum gz
(3) Hicamm s T
(4) Iy gohe g
132. T 2R S0 3 ) Fa " Al
(1) 100000 €  (2) 1000 Wi
(3) 10000 T& (4) 1000000 e
133. ¥ F1 FHig% Y98 Bl 2
(1) oS (2) s g/
(3) T W (4) TR T

134.13:%%1?3%&%@?—1113&@%,%@
(1) @feay A5
(2) EITER HeH _
(3) Fowm ifEE R ,
(@) Fren | -
135. B4 & #f @R didl FHa F TR w30
e FA-H 27
(1) F& AR F 9zErd F e
(2) wrfrE FaEd
(3) T A 4 gd F AT
(4) wfwed AT
136, Tt F 1@ § =i ) wigan wefl 9 @
(1) flradnfize g (2) T ET
(@) W@z gm (4) T g
137. Sl @ # AfFes 1 vy F9 #
(1) el % T & ae a1
(2) el % T8 F) g w0
(3) wel % @ | grh HH
(4) el F @ ) Ol
138. ZATR 1 el U1 iy Tor & @ e #7

R T (4) g
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129, Indian soldiers have been awarded

‘UN Medal’ recently for their peace-

keeping works in

(1) Congo

(2) Somalia

(3) South Sudan

(4) None of the above

Which is not an agency of the UNO?

(1) United Nations Educational,
Seientific and Cultural Organization

(2) World Health Organization

(3) Food and Agricultural Organization

(4) International Court of Justice

Which fertilizer is known as 'Kisan

Khad’?

(1) Ammonium sulphate

(2) Calcium nitrate

(3) Calcium ammonium nitrate

(4) Ammonium sulphate nitrate

132. The quantity of water in one hectare
centimeter will be

130.

131.

(1) 100000 litre (2) 1000 litre

(3) 10000 litre (4) 1000000 litre
133. Banana is propagated

(1) by leaf (2) by seed

(3) by stem (4) by suckers

134. Which fertilizer is highly hygroscopic?
(1) Sodium nitrate
(2) Ammonium sulphate
(3) Calcium ammonium nitrate
(4) Urea
135. Which is the suitable stage of green
manure crop for incorporation in field?
(1) Post-flowering stage
(2) Initial stage
(3) Pre-flowering stage
(4) Maturity stage

136. In fruit juice sugar concentration is
measured by
(1) refractometer (2) chinometer
(3) potometer (4) tendrometer

137, The main role of pectin in jelly making is
(1) coagulation of fruit juice
(2) sweetening of fruit juice
(3) staining of fruit juice
(4) colouring of fruit juice

138. Which pigment is responsible for red
colour of tomato?
(1) Xanthophyll (2) Anthocyanin
(3) Cyanide (4) Lycopene

8 a0


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

139. g #1 %& W €A 139. Lemon fruit is a rich source of
(1) [Hr 1} HE ] (2) -_'Ir‘1!-l- HEe 71 (1) eitric acid (2) tartaric acid
(3) e spw o (4) Vhfew s W (3) malic acid (4) acetic acid
140. "FH ‘-‘.’”Hi warTeTen’ el srafcin R 140. Where is the Central AGMARK
(1) Iq:\;r.!,& (2) AT Laboratory situated?
(3) Y (4) @IS (1) Bengaluru (2) Nagpur
141, 396 W HH-Q §7 (P} mung R
1) 9-7 N} Y 141. Which are the constant (AC”AIJ SWaT
L @) -1 (1) SA-GA (2) SA-PA
(3) :'H---Ii (4) H-Y (3) C}A-MA [4) SA-DHA
142, 1M "111{4_1‘#&4 Y § Iy 27 142. What is the Thaat of Raag Yaman?
l;} :_asn (2) Toremaa (1) Bhairavi (2) Bilaval
1 eI (4) @S, (3) Kalyan (4) Khamaj
143, @ifiq § w9 Ry % gag we® B w9 ¥ 143. In music continuous flow of equal speed
(1) 4H (2) ©H is called
(3) ©r (4) o= (1) Sam (2) Laya
0 (3) Taal (4) Chhanda
144, TH Y gfhuyg :
(1) U‘Iﬂ e 2) T EEA - group is knpwn as
(3) TFI HeAm :4§ LURERIER| :;} Eaag EﬂTag Ei} gaag éﬁg
aag Kalyan aag bl
145. mslgla;ﬂ:{ Taerft fowm fatm @’ % Eﬂfﬁi[l 145. Who is the writer of Jhanda Gaan,
; ) Vijaee Vishwa Tiranga Payara?
(2} GG ';P?I SR (1) Harivansh Rai Bachchan
((3} SlESL - (2) Rabindranath Tagore
{4; TS T (3) Shyamlal Gupta ‘Parshad’
5 E:Mj Iii TS b (4) Harishankar Parsai
146. 91509 = oo 9ran eH ¢ 146. Hormone released from thyroid is
(1) FFeA _ (1) insulin
(2) I FEALSE (2) parathykalin
(3) thyroxine
{4) 94 A |/ % e (4) None of the above
147. 5d % q1998 ¥ O95F 990 # ﬁ,[ﬁ;[ ﬁ'ﬁ'f%l%ﬁ 147. Water is used as a medium of cooking
TR 3’5‘-1—‘!1? 27 in which of the following methods?
(1) W : (1) Stewing
(2) BEFMA (2) Simmering
(3) @A (3) Boiling
(4) w'g'ﬂ', adfi 2 (4) All of the above
148, ZrFe g9 A fafys 2 148, Method involved in Dhokla preparation
(1) wed fafy “;‘ :
(2) @it W7 GeepsIrying
(3’ 32]?” ﬁm ﬁﬁl (2) fermentation
4 ZEEAT (3) shallow frying
4 4)  boiling
149, 21 a4 § @: A &1 A1y ) FEq ' 149. Two years to SiX years of ase i
1) T 2) dnyaETEe SRY 13 Splled
(1) (2) (1) adolescence  (2) babyhood
(3) @reATEEl (4) sherawen (3) childhood (4) adulthood
150. Se1 Uguvl %1 #Rv) § 1650. Reason of water pollution is
(1) wg= ﬁim (1) human activity
(2) =edl sFEE I M (2) population growth
-~ (3) @A ' ; (3) pesticides
| (4) All of the above
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